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Directions: There are in all 24 questions in this question paper. All questions are
compulsory.
(i) e &g FrefRa 3 390 T sifed &1
Marks alloted to the questions are mentioned against them.
(iil) TS T B LAY Uled qT FHfd IR Alfore|
Read each question carefully and answer to the point.
(iv) e Ee=T 1 SEfamedra e &1 391 e & Ii® W@US & TR W O faoed fed
e &) T8 R s seRyRae § foRkaw| we w2 3 7 76 Fiad swRia
ye &l
Question No.1 is multiple choice question. Four options are given in
answer of each part of this question. Write correct option in your
answer book. Question No. 2 to 7 are definite answer type questions.
(v) T3F 97 8 ¥ 12 O TS BT Ja< AU 30 YT H alfoe|
Question No. 8 to 12 are to be answered in about 30 words each.
(vi) T2 I<=T 13 § 19 T8 YAP Bl IR AT 80 Il H QIfoe|
Question No. 13 to 19 are to be answered in about 80 words each.
(vil) T T 20 3 23 T TS BT IR GHIHT 150 TRT H alfore|
Question No. 20 to 23 are to be answered in about 150 words each.
(viii) 2T ST 24 T § Hifers Tael & Ugae R ae & et gl el
T frga qe R & a-AERET B IR RIS H Herd DI
Question No.- 24 is related to identification and locating of geographical
features on map. Attach the given outline maps of World and India
within your answer book.
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T 5 Rreffaa & 3 e 7edy 3§ SR gig T 7

(i) 3Ol (iy T 3ERaE
iii) U (iv) 31 IR
Which one of the following continents has the highest population growth?
(i) Africa (i) South America
(ii) Asia (iv) North America
(@) T ¥ P 00T e e 67 1
(i) DI (i) =
(iii) g (iv) 3&8
Which one of the following is not a Plantation crop?
(). Coffee (i) Sugarcane
(iv) Wheat (iv) Rubber
@ Fer o1 3 XeTit % ST T O T I ST 87 1
(i) g (iiy &
(iii) B 5T SRS (iv) =9
Which country has the highest density of railway network?
(i) Brazil (i) Canada
(i) United States of America (iv) Russia

(o) S § & e TR & e e, 78 a1 7R & R el 77 1
(i) FEBR (i) &
(iii) THUE! (iv) TBR
Which one of the following forms of settlements develops along either side
of roads, rivers or canals?
(i) Circular (ii) Linear

(i) Cross-shaped (iv) Square
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(3) Frfiied § § B & TR 74 ¢ R SR T8 §? 1

(i) SR (i) et
(iii) e (iv) Pl
Which one of the following towns is not located on a river bank?
(i) Agra | (i) Bhopal
(iii) Patna (iv) Kolkata
@) Frfiaa 3 B ar it sEwm $1 06 SRR 1
() WO (i) Got
(iii) St (iv) T O

Which of the following is not a reason of industrial establishment?

(i) Market (i) Capital
(i) Power (iv) Population density
(5) FrefREd § ¥ fow a¥  ugen AT SRAHH YRR g3T AT? i
). 1t (i) 1927
(i) 1923 (iv) 1936

In which of the following year, the first radio programme was broadcast?

(il A911 (ify 1927
(i) 1923 (iv) 1936
(1) Prefaieaa § 3 Faiies vgivd Ta SH-4 8? 1

(i) s&9ga (i) gHI

iii) eI (iv) st

Which one of the following river is highly polluted?

(i). Brahmaputra (i) Yamuna

(iii) Godavari (iv) Satluj
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15

FafreTIaTe’ B YebeaT o FRId BI?

Who introduced the concept of 'Neodeterminism'?

fyog ¥ Ta9 Bv S foa Hee § fer €2

Which continent has the least population in the world?

fyeg 1 afrsa 29 B & v EE & BT I S|

Name the one main region of commercial dairy farming in the world.

R Yo 5 21 1 U S XeEE £2

The 'Trans-Siberian Railway' is @ major rail route of which country?

TRe 3 T = ¥ Taiftre Siearse T S €7

In which state of India, maximum bauxite is found?

RS I B R {5 ad g8 e

In which year Indian Railways was established?

719 e S $6 39-831 S A Farsdl

Name some sub-fields of human geography.

g S {59 Fed 87

What is human settlement?

T T IER a1 27

What is a Healthy City?

Wﬁ@mm$m$mamm|

Mention the factors of localization of cotton textile industry in India.
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Give the importance of Metro Rail.

o]

fyog T S & Ra<0T § U9 B THId ) a SR B 91aTg quie BIeel 3

Briefly describe the factors affecting the distribution and density of population in

the world.

PR 3 & T A &P JETERT Aied W B 3

What is meant by household industries? Clarify with example.

YOI HERINRIT STeMN o1 T SIRET3i & eeid Diiotd | 3

Mention the main branches of the Pacific Ocean waterway.

TTOT T TRIY SRl § 3R ad1sd| 3
Differentiate between Rural and Urban settlements.

ﬁﬁﬁnﬁaﬁﬂﬁwﬁ%ﬁawﬁm%ﬁr&amm%@mw%!
IfeTaT ST STETR HISTE AT I8 T Je! BT IR QIS - 12+1%=3

The following table shows the extension of irrigation in India by various means,

in their percentage. Study the table and answer the questions that follow -

Means Canals Wells Ponds Others
SIGEIG] 40.0 26.5 7.5 26.0
Percentage

(&) walfte RS & 9ee o 82 39T HRUT Qe |

Which is the most mean of irrigation? Give its reason.
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What is the percentage of irrigation by other means? Give its reason also.

18. %Wﬁ%%@%ﬁ-ﬁ@%?ﬁthMA 3

Which are the chief means of transportation in India? Briefly mention.

1o, TS TTRT TR YgEY 5 TG B Seerd Dot 3

Mention the effects of pollution on human health.

20. 3TERTEI R I &9 SR T Il Rl &2 e 5

How do nations gain from International Trade? Explain.

21. ﬁdﬁmé?qﬁmaﬁmﬂﬁamaﬁmﬂmﬁ%ﬂl 5

What is tourism? Give an account of the factors affecting tourism.

v e 3 v % HRoiT 3k gRomet @1 gofe Bl 5

Describe the causes and consequences of migration in India.

23, e S s 5 T v B & e el 5

Discuss the development and major centers of sugar industry in India.

Sa. (F) e T Taga & e X1 AFtE # IR @@ (i), (i), (i), (iv) & &Y § T
nﬁ%l%ﬁnﬁm%mwaﬁﬁrmﬁﬁwmﬁaﬁﬁﬂ%ﬁw«
3T e A faRed- ax4=2
() FeHeH FERR Ud Fe HERR B Fes arelt e

(i) T P BT TS Fea &
(iii) o< BT T a1 T
(iv) eFeoT 3rIReT &I T T el 8T
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(@) Frifed @1 YRA & D 0 oo e wEtos 9 2ifsd qor 39 R &1 9| @
o - 1x3=3
() ¥RA B THE T 3UED I
(i) TERE 5T § AUCITR o) ad
(iii) FARTEUE BT G TR, STal I Aaed a2

(a) In the given outline political map of the world, four features are shown by
(i), (ii), (iii) and (iv). Identify the features with the help of the information
given below and write their correct names on the line marked on the map-
(i) Canal connecting the Atlantic Ocean and the Pacific Ocean
(i) Largest region of transplanted agriculture
(ii) Russia's main Airport

(iv) An important river basin of South America

(b) Locate and label the following in the given outline political map of India and
write their names also-
(i) Major tea producing state of India
(ii) Software Technology Park in Gujarat State
(i) Tourist town of Uttarakhand where the High Court is situated.

A : Frafefed we $aa gfeda el g rm v 4 F R R & -
Note : The following question is for the blind candidates only in lieu of question
no. 24-

Frafefea veai & 3R dfore- 1x5=5
(i) 3fceried AENNR 3R Yo AENTR & Sig- dTell 7ex &l TH Sdrgd|

(i) afaoT 3R & vh @ el a & I Faisd|

(iii) T & Y@ &GT5 G B A1 I |

(iv) FTRIEUS P 39 Gies R &1 9 I8¢ S1al 3o ey (e |

(v) HRA ® WE I WD 59 &I A g5 |
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Answer the following questions-

(i) Name the canal connecting Atlantic Ocean and Pacific Ocean.

(ii) Name a major river basin of South America.
(ii) Name the main airport of Russia.
(iv) Name the tourist town of Uttarakhand, where the High Court is situated.

(v) Name the major tea producing Stete of India.
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